7 K
h
Pt sbid3 -~ @

Grwse, 4 rend A 03
Q)EZ(M%“(I/\A—U/\LI r{9): l+w§9 ﬁaﬁét Y'(ZR~D)=HBJ f}df("?"%-ﬂ/l'
= oS8 (1 G5h) 1M THAG A E s L v elEn « B E IR VA
—;-\
B st (v 0S5H) hh
of)(__ s (teoash) o B (-5 b 79’1
P ) dy| A=
= ~¢ind - 28T pessl _)—(ffz =
- ogtap( 1+ 208D ) %
o<t evt | T
%,oﬁ‘st A 3 ﬂ()
Las Ll
4 N b4 U’D.l Y=0 (O.D)
Ao oo )
81 avd - _ B
. L-% -2 (4,9)
/. l —
v 00SE( [¥Cosh) +8onp « «(stnb) “3
= sk + weh-sitl
« 5 + s - (1-tsD)
= 20059+ Cos b1
= Cospt Cewsh )
b < <2Re Lt "W -
: I “"di ' X d L “iek q'&: o
%Wtﬁc . ozﬁ't—:‘il —3&7\/ ZSD / (ﬂ) ‘F(ﬂj g;FlHM v g
(ﬁ h ey ! f (nv‘f’,:’_‘ % cumfozom boshz g8 52D
v Ea EY X B8 S e
j:50 bt Aig 3 . al 4/1 % s § 400D 51t P = 05 0052
. 5aaed .3 oy X2 » 33
o5l % -1 (-7 i ‘
wAE Y (”ﬂ' F (% Y. oginfaz sngsm2ll +sw2b + G5V T 2005 B C5 20 £0052f
3
%;owaé(r (0. o) (- ?z—}-) :l—u(smﬁ»\zé}fmvaxw)
bttt (00, (1) oeafsstot w0t}
= 2+ 2{20-00 1'0) Cas 1 20059 ~ WS B
2
%ﬁ_ (MQT')(,@JJ c2+ 20058
, 17 T giwb (142086 ) = | s1v
. (e 2wse) ws Zg““””’" Moo= 42807 I;
osinp (szﬁb)(l-@f’) J—
_ sinf (20058~1) "zﬁﬂfwww A¢ = 6
(1+ +2050) (I-0050) .
T [ Ao xl=220) o ) gn o[ o Lug
Wd“ (-2) < (1+) ot ] o o BeiL s
,L > 4S ‘ onW

-,L"R a.—. O

s O




